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EXPOSURE TRIANGLE

The exposure triangle combines the aperture, shutter 
speed, and ISO to create an exposure. Once a perfect 
exposure has been achieved, changing one setting 
requires an equal change to another one of the 
settings.

Pracঞcal Example
A photographer is shooting a landscape scene and has found a perfect 
exposure with f/5.6, 1/200, ISO 100. They then decide they want to 
adjust the aperture by one stop to f/8. The exposure is now one stop 
underexposed. To maintain a perfect exposure, the shutter speed must 
halve to 1/100, or the ISO must double to 200.
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